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Q.1 dedgaaa:fAFA,B,C,DIREUCd g Fra A @S gIDF ugat haa sl AT @I I ESH
91 Fhaet IR AT @S 1 C, A R F & g @sr &1 9ad F=n a7 w17 82

Ans X AF
X B.E
& C.B
X D.A

Question ID : 1841222891

Q.2 Inthe given venn diagram, triangle shows class 5 students, rectangle shows the students who can dance, circle shows

girl students.

2
4 Jel8\2\ 5

1 9

How many class 5 girl students are there who can’t dance?

Ans X A.14
X B.8
X C.10
& D.6

Question ID : 1841222890




Q.3 9 gk sy fear mar @ forwes a1 &Y anond & 7 &1 99 & foh g g sy F -
TROT/ATROTTY Siafifea &/81

hY:

ek @ Reolt aar 37 @ arsn e gfrurs e 81
YTROTTY:
1. $81R @ feeft aas gars aran &t gfaurse T8 81
I1. §31% iR Ryeeft 27 @ 12 gu &)
Ans X A. cHI g YoMy siafiiga &1
& B. &had yron || siafiiga 8
X C. %aget yron | siaffiea 21

2< D. 1S ot urom siafifRa 7gt 1

Question ID : 1841222901

Q.4 Selectthe option which is related to the third term in the same way as second term is
related to the firstterm.
RXF:SEO ::GPS :?

Ans X A HTY
2 B. HSX
« C.HWB
7< D. HUZ

Question ID : 1841222898

Q.5 Three out of four given options are alike in some manner and one is different.
Choose the odd one out.

Ans X A (12,91)
< B.(17,126)
& C.(6,51)
2 D.(9,70)

Question ID : 1841222906

Q.6 If A *B means A is the father of B, A # B means A is the mother of B, A @ B means A
is the husband of B, A $ B means A is the son of B; then for the given expression T #
P*U$S#C @ D, howis D related to P?

Ans & A Daughter-in-law
< B.Uncle
5 C.Cousin
25 D. Son-in-law

Question ID : 1841222896




Q.7 Which number will be there in place of ? in the given number matrix?

11 | 18 |15

? 9 |24

29 | F7 | 10
Ans X A.17

% B.21

X cC.o

& D.11

Question ID : 1841222905

Q.8 3rHiuT @R & HIRYr AT &A1 A g & a1 Whet o W R ag &1 AT ao wamei 7 sufea
3@} 3 foRr qrehame & arfies udter i dard Y gfEal qF &t 781 gErR 9 ugs ag snf@d ar
fora fam e & Sufda gd oft?

Ans X A g¥aR
«” B. AR
X C. R
#< D. §Har

Question ID : 1841222889

Q.9 Which is the wrong term in the given letter series.

X,y,QlZ
Ans X A.Z
X B.U
X cCl
« D.Q

Question ID : 1841222892

Q.10 o AT g @ @ea a97g AT @t u @2 gid &1 a7 A & uffw d @er g, st aflkaa &
IR A @1 g, Sl 8w & gd & @l §; 79, Siaw A frd fyem d @ g?

Ans X A feor
& B. 3R
X cgd
7< D.ufgH

Question ID : 1841222895




Q.11 Three out of four letter clusters are similar in some manner and one is different.
Select the odd one out.

Ans X A.XAD
& B.QUY

X C.FIL
< D.LOR

Question ID : 1841222899

Q.12 Which two numbers should be interchanged to make the given equation correct?
196+ 7+8-36x25=-235
Ans X A.7and 36
/< B.7and8
2 C.36and 196
" D.25and 8

Question ID : 1841222908
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Q.13 Select the correct mirror image of the given figure if the mirror is [placed at the right side of the figure.

4 o)

ﬁ;@

Question ID : 1841222903

Ans

o A58
X B.104
X c.7
2 D.97

Q.14 If A % B means A is multiplied to B, A # B means A is added to B, A @ B means A is
divided by B, A $ B means B is subtracted from A; then what is the value of the given

expression?

105#87% @3$19% 4

Question ID : 1841222907




Q.15 Three out of four letter cluster-pairs are similar in some manner and one is different.
Select the odd one out.

Ans  * A.RCM:AIP
#< B.JTU:SNX
< C.GPV:PJY
< D.VFI:EZL

Question ID : 1841222900

Q.16 Three out of four figures are similar in some manner and one is different. Select the
odd one out.

Ans

X A /
7
%

« B. /

x. e

Question ID : 1841222902




Q17 Two positions of the same dice are given.

v ra

Which face is opposite the face marked 3?

Ans X A5
o B.1
X C4
X D.2

Question ID : 1841222904

Q.18 Ifiin acode language ‘GRAPES’ is written as ‘NKLEO!’, then how will ‘APPLES’ be
written in the same code language?

Ans X A LETHIO
< B.EOLHTI
?< C.EHLTOI
& D. LEHTOI

Question ID : 1841222894

Q.19 If all the letters of word ‘ASTONISHMENT' are rearranged in alphabetical order, which
letter has vowels at both sides?

Ans o AH
X B.O
S CM
X D.N

Question ID : 1841222893

Q.20 s ufvar & ara g g, foad gt guer sk i a3 &1 P, N o1 gerettar dter g, 5t (N) Q Y
8 S i 21 &1 U 3RV, M & wid-gg iR ula &1 V &1 S N & a1y forg &0 7 82

Ans X A TR 9E/93 T8
" B. U@
X C.ad

X 0.7

Question ID : 1841222897

Section : General Awareness




Q.1
Ans

et sieenrar & faaeifyar Anifvae iy afeeaar __________ v 6 i o
25 A. @i g1 (Lord Hardinge)
/< B. dfs ufaM (Lord Elgin)
o C. dE &3 (Lord Curzon)
/< D. @ 7/t (Lord Mayo)

Question ID : 1841222916

Q.2
Ans

f=fafEa 7 9wt @ afdoft s | R & fég amarsy o1 sifaw asmdsr ar?
XA TTIR AT
X B. gla9e IoTasT
o C. SRifdg Tomasr
< D. I1adrg= ST

Question ID : 1841222914

Q.3 RAIIIIREA AR GEURAG________ ade A
Ans X A &HUR
X B.=fogd
o C.3RTS
< D. sifeh
Question ID : 1841222918
Q.4 fa=fafEa 7 9 fora glsrEr &1 32 9t WA gz GRenrd vonferat, St 3w 3=y TwyTt &

IY YR FTaHtd & & fog 719, Iuaror iR dh-fer ueT= sveh sieusieas afganai, 39
ugifeat afga, st nta / &t d g2 arst sr=g Teeral & S & gearfreror & a1y a1y 39
= fasmra a1 w82

Ans X A. =31 ISITel
o B. 7S Ar
X C. TRk
< D.Eg®
Question ID : 1841222911
Q.5 2011 & STETOET & JFUR, STHYGET A AT i wRearaih gfe = o ufaera fra=r ur?

Ans

X A.1.03
o B.1.64
< C.3.45
X D.2.25

Question ID : 1841222923




Q.6 1949 & figew Rufesren it arg=T1 it wITU=1 &F T2 § A9 & F=faf@a 9 @ fra aohifas
& 7 e fomar ar?

Ans X A IS ARTUET (China Zhi Gong Party)
Z< B. Sg@= AErael (Jiusan Society)
¥ C. I3 g Uil (Chinese Communist Party)
< D. AT31 SHKh{e 7 (China Democratic League)

Question ID : 1841222915

Q.7 daadiaseara____________ AfRad
Ans X A HERE

X B. Ramma ugwr

o C.A IR

5 D. I5TIH

Question ID : 1841222922

Q.8 Arft@amerdigar___________ #2
Ans o A S 3R dufR

< B. AT
5 C.emH
X D. e

Question ID : 1841222924

Q.9 SHEaRt 2022 & wga &, FA=feafaa d 9 fora @dsar Q91 & T19 93 wen ws=ht @id g
STUST Wi e YRR Y LFAT il 72

Ans X A. GoANMTS UeA
« B. @V dg a9
X C. wd ¥
X D. mgrem el

Question ID : 1841222909

Q.10 T & AAT Wieh Garaiat (NSE) &t RITa=T vt g8 oft?
Ans X A.1988

< B.1990
& C.1992
< D.1996

Question ID : 1841222920




Q.11 SRR A Aarsft gy g A F 1250 sadft hsusaead________ Y unehH feaa &
=u # gifya farar &1

Ans X A 24 FEEd
o B.23 sl
X C.25 SHadt
< D. 22 St

Question ID : 1841222919

Q.12 w199 faehTa gaehie 2020 ____________ 21 A9 ferar mar uni
Ans X A. SRS garg afafa

X B. SIRIsE gaT opiy

«F C. 9T g [AaTd sricd

X D.Rayds

Question ID : 1841222921

Q.13 g g fAmfaf@a d A fraasa g &2
Ans o A RAEE TRy

< B.IREE
25 C. I
< D. IR

Question ID : 1841222925

Q.14 SHa9 2022 d Wt ST & JFER, fAmfafEa 7 @ fora faendl 3 ¢ forde # qaffaw
fardhe forg &2

Ans X A Q.G
" B. TH.IARA
K C. S yn.is
X D.ggFae

Question ID : 1841222913

Q.15 fAa=faf@a 7 @ s @ yonfa viarmifeay ("arywrdt” aadfRan) €, st amwmr=aa: a9 g
SR gz gy urd st &2

Ans o A SRS (Lactobacillus)
X B. iR (Listeria)
< C. gremi=eT (Salmonella)
75 D. iR’ (Campylobacter)

Question ID : 1841222926




Q.16 gd dhefta TamR 3R o1 dien iRy wsit =i uare Z1=r 2020 & Y 7 Giwor & 7R,
JATfRehet WIZAR Shad gexe ZI G wial & st aren fA=faf@a & @ wRa &1 ugen asg
hIT 9T ghm?

Ans X A BTG
< B. e
X C.&dlew

" D.fERr

Question ID : 1841222910

Q.17 As of January 2022, who is the Governor-cum- Administrator of Chandigarh?
Ans X A.Sri Debendra Dalai

#< B. Shri Dharam Pal
25 C. Sri Nitin Kumar Yadav
«" D. Shri Banwarilal Purohit

Question ID : 1841222928

Q.18 f=faf@a d @ i Wika &1 ugan siefies divers ar?
Ans X A Rffa gRgen

< B. sifse aaf

o C.ffaram

25 D. T&hH fhR

[ Question ID : 1841222912

Q.19 wrdta d@faen & fFA=fof@a § @ Fi9 a1 srg=ds aivpfas s terfors srfdenr<t @ Hefda
&?

Ans X A. 3geoe 2528
X B. argeae 19-22
o C. argede 2930
< D. argeae 1235

Question ID : 1841222927

Q.20 a=Ted srfears e F=fofRa 4 @ fora wsa @ 82
Ans X A HA

< B. ®Alc®w
25 C.emH
o D. fsie

Question ID : 1841222917

Section : Arithmetic Ability




Q.1 A Qe &1 &l 12 f&=t A 2fiw B 18 f&=1 & o= Gepar &1 afe 3 39 ur 6 fe= ao va @1y v
e &, dt &rd a1 feRaHr sier Ay g=m?

Ans 1
o A —

6

xe 2

3

xo 1

4

xo >

7

Question ID : 1841222940

Q.2 afy ge fAyet i sia:fHsar 2.5 cm & i gqe ufk|rg 32 cm &, at By &1 gahe ar
gm?

Ans X' A.35cm?
X B.44cm?
& C.40 cm?
< D.30 cm?

Question ID : 1841222946

Q.3 A sum of money at simple interest amounts to Rs. 1615 in 3 years and to Rs. 1654 in 4
years. The sum is:

Ans X A.Rs.1489
& B.Rs. 1498
X C.Rs. 1948
7 D.Rs. 1648

Question ID : 1841222938

Q.4 Which of the following numbers is divisible by 2, 3, 5 and 10?
Ans X A.32150

< B.23235
< C.24130
& D. 23250

Question ID : 1841222932




Q.5 e uEA utyr Ga AT G @ Far 2, iR adlA & sia d, Areht et ot &1 30% e a7 & IR
forz oft Tt 6t s 7R Y gor=T & 10% a1 grar @1 9 & gr Al fopa ufazra i gfyg
gt g2

Ans X A.50.90%
X B.61.62%
& C.0.6362
7 D.65.32%

Question ID : 1841222934

Q.6 An electronics repairman purchased a defective mixer grinder for Rs. 700. He spends
some amount to repair the mixer grinder and then sold it for Rs. 1400. If the
percentage of profit made by the repairman is 50%, what is the amount he spends on
repairing the mixer grinder (round off to the nearest integer)?

Ans X A.Rs.333
2 B.Rs. 430
7 C.Rs. 303
« D.Rs. 233

Question ID : 1841222936

Q.7 The mean weightofagroup of seven boys is 62 kg. The individual weights (in kg) of
six of them are 54, 57, 57, 60, 59 and 55. Find the weight of the seventh boy.

Ans X A.78Kkg
< B.82kg
% C.80kg
& D.92kg

Question ID : 1841222943

Q.8 Simplify:[72-12+3-21+(18-6)+4-(6+2+7x4)
Ans X A.30

X B.28
o C.38

X D.42

Question ID : 1841222933

Q.9 The ratio of the length and the breadth of arectangle is 4 : 3 and the area of the
rectangle is 7500 sq cm. Find the ratio of the breadth and the area of the rectangle?

Ans o A.2:200
2 B.2:100
2 C.1:50
25 D.2:50

Question ID : 1841222945




Q.10 Rashish invests ¥ 5000 for 3 years at 5% p.a. compounded interest reckoned yearly.
Income tax at the rate of 20% on the interest earned is deducted at the end of each

year. Find the total interest at the end of third year.
Ans o A.T624.32

X B.3642.31
< C.3724.90
X D.2824.32

Question ID : 1841222939

Q.11 I8 YN AT e, STa Ta9 Tt T&ar ot 5 @ fonfora forar srar g, 59 77, 48 sl 34 @
fawrfSra e gz AW A2 2, 3 3R 4 T9 &)

Ans X A1
 B.3
X C.5
X D.15

Question ID : 1841222931

Q.12 afg gfar 10 km/h & a=11a 15 km/h 6t 7fd @ Tt , af ag 337 & 999 & 40 km 319 T
uret | 3% ZI=1 a7 hi 78 g fpat &2

Ans X A.70 km
o B.80km
X C.50 km
X D.60 km

Question ID : 1841222942

Q.13 The fractions 0.3, 3.68, 2 in the form of like decimal fractions are ______.
Ans X A.0.03,36.8,2.00

«" B.0.30, 3.68,2.00
#< C.0.03,3.68,2.00
#< D.0.03, 3.68, 0.02

Question ID : 1841222929

Q.14
0.1x0.1x0.1+0.02x0.02x0.02

ST HE A DL

04x04x04+0.08x0.08x0.08

Ans X A.1/12
« B.1/64
X C.1/24
X D.1/48

Question ID : 1841222930




Q.15 Te ¥t A uia $ud, 3t v 3 Geh wud & fdah 2: 3 : 5 & srqura 9 &1 afy 39a1 et e 3
273 @, &t &) vud & fRyaerl =1 g fra=n ghm?

Ans X A.382
 B.278
X C.239
X D.266

Question ID : 1841222935

evorsi U aama

Lad

The above graph shows the percentage of students who have scored a first class in Maths and English in Div A, Div B,
Div C and Div D of a school. Based on the graph answer the question:

If a total of 160 students are equally distributed in all the four divisions, what is the difference between the

nmumber of students who have scored first class marks in English and Maths over all divisions?

Ans A 10
< B.30
X C.16
X D.20

Question ID : 1841222948

Q.17 uia GEarsil <1 ared 45 g1 afe fereft uer deam &t ger f&ar s, af areg 5 0 gl sirar &1 gers
E T A fifSgl
Ans X A.50
X B.55
< C.45

o D.65

Question ID : 1841222944

Q.18 aifaq, fafs sfik &t gor 1 vt shwar: 20, 30 31tz 60 &= & gor e Hehdt 81 afy grAAM =
fafaq ofir &N srfa i ggraar w=a g, at sifa 39 o &t fora feat g3 R gepar @2

Ans X A 10f=
& B.15R7
X Cc.5fT
X D.20R=

Question ID : 1841222941




Q.19 Find the ratio of the total surface areato the curved surface areaof acylinder with a
diameter of 12 cm and height of 10 cm.

Ans s 8
5

xe !

9

xc 2

8

x0 L

5

Question ID : 1841222947

Q.20 Mukul sold a fan to Sachin at 40% gain, Sachin sold it to Nitin at aloss 0f24.3%. (round
off to the nearestinteger). If Nitin bought it for Rs. 1060 then at what price Mukul

purchased it?
Ans X A.Rs.1250

7< B.Rs. 1200
& C.Rs.1000
2 D.Rs. 980

Question ID : 1841222937

Section : General English

Q.1 Fillin the blank with the correctly spelled word choosing from the options given
below.

There is afrequent __________ of hail storms and snow in this area.
Ans X A. occurence

" B. occurrence

25 C.occurance

#< D. ocurence

Question ID : 1841222960

Q.2 Identify the Adverb/Adverbs in the following sentence choosing one among the
options given.

He quietly replied that he was entirely satisfied and quite content.
Ans & A quietly, entirely
#< B.replied, satisfied
#5 C.replied, content

25 D. quietly, quite

Question ID : 1841222952




Q.3 Selectthe most appropriate Antonym of the given word.

CONSENT
Ans X A intervene
< B.initiate
< C.hallucinate
& D. interdict

Question ID : 1841222955

Q.4 Fillin the blank using verb form (present perfect tense) choosing from the options
given below.

Ouch!You _______ on my foot.

75 B. Has treaded
«" C. Have treaded
< D. Have been treading

Question ID : 1841222953

Q.5 Putthe verbs in brackets into correct or more suitable verb form (past tense)
choosing from the options given below.

We (come) home from school when it (start) to rain.
Ans X A.came, were starting
¥ B. were coming, started
< C.came, started

< D.came, was starting

Question ID : 1841222954

Q.6 Selectthe most appropriate meaning which best expresses the meaning of the given
Idiom in the bold.

During her long illness she often LONGED FOR death.
Ans 4 A Desired

#< B. Cheered
#< C. Craved
75 D. Demanded

Question ID : 1841222958




Q.7 Complete the sentence using an appropriate adverb choosing from the following
options given.

Nina seemed a bit annoyed about Rehana's comment, but | don't think she was ______
offended.

Ans X A.lightly
< B. softly
# C. deeply
25 D. likely

Question ID : 1841222950

Q.8 Complete the sentence using an appropriate preposition choosing from the following
options given.

His house is ________ the temple.
Ans o A near
& B.to
7< C.by
25 D.on

Question ID : 1841222951

Q.9 Selectthe mostappropriate option to fill in the blank.

Many are called, but _____ are chosen.
Ans X A.unique
< B.all
< C. entirety
" D. few

Question ID : 1841222962

Q.10 Complete the sentence using an appropriate preposition choosing from the following
options given.

How many people canyou fit ______ your car?
Ans < A.on
« B.in
& C.at
25 D.of

Question ID : 1841222949




Q.11 Select the most appropriate meaning which best expresses the meaning of the given
Idiom in the bold.

About an hour ago | saw afellow HANGING ABOUT our bungalow.
Ans X A.Eyeing on

" B. Loitering about

25 C. Expecting about
< D. Staying in

Question ID : 1841222959

Q.12 Selectthe most appropriate meaning which best expresses the meaning of the given
Idiom in the bold.

How did these things COME OUT?
Ans X A.Stray
< B. Leave
" C. Happen
#< D. Expediate

Question ID : 1841222957

Q.13 Given below are four jumbled sentences select the option that gives their correct
logical sequence.

A. Some moulds produce toxins.

B. Some are harmful and cause infections or produce toxins, e.g., clostridium
botulism and salmonella.

C. Micro-organisms are present everywhere and some are useful in making curd,
cheese and bread.

D. Aspergillus flavus produces aflatoxin in groundnuts, cereals and spices.

Ans X A.CABD
< B.BDAC
7< C.ABDC
o D.CBAD

Question ID : 1841222961

Q.14 Selectthe most appropriate option to fill in the blank.

________ strengthens our will to survive calamities.
Ans o A hope

< B.treasure
< C. honour
#< D.value

Question ID : 1841222963




Q.15 Read the sentence and select the homophone which will correctly complete the
sentence.

Wild beasts in small cages are asorry _______.
Ans o A Sight

2 B.Site
25 C.Sides
25 D. Sighed

Question ID : 1841222956

Comprehension:
Read the following passage and answer the questions given below.

Foods that are high in salt, sugar, fat or calories and low in nutrient content are called Junk
foods. Children, especially adolescents influenced by advertisements consume foods which
are high in fat, sugar and salt. These foods are high in calories but not nutrient dense. Junk
foods give generally 'empty calories'.

One of the important reasons for the rise in obesity among children is consuming junk
food.

Salted snack foods like chips, candies, French fries and sweetened carbonated beverages
are considered as junk foods. Bakery products like cakes with icing and biscuits are mostly
made with Maida, saturated fat and sugar also come under the category of junk foods.
Puffs and karo biscuits, get the characteristic layers due to addition of trans and saturated
fat. Increase in serving size of foods like popcorn in theatres is not desirable.

Idli, vadas and dosa contribute protein and vitamin requirements in addition to calories.
These foods are not junk foods.

Junk food should be restricted in diets and occasionally consuming them may not harm
the body. Pizzas nowadays made with whole wheat flour. Addition of more vegetables make
it more nutritious. Cheese present in pizzas contribute to protein requirement.

Indian sweets like jalebi made with maida and sugar can also be considered as junk food.
All sweets should be consumed in limited quantities due to high content of sugar and trans
fats and occasional consumption may not imbalance nutrient intake.

Foods like vadas and bhajjis can be consumed occasionally though they are rich in protein
they are also rich in calories.

Milk based beverages like milk shakes and lassi either sweet or salt contain lot of sugar
and salt. One need to appreciate those foods with no or limited sugar and salt.

Most of the junk foods are processed. Limiting processed foods and outside foods, is
desirable. Appreciating natural foods like fruits and nuts as snacks would pave the way to
good health.

In 2016 the Central Board of Secondary Education had sent out a circular to its affiliated
schools stating that junk food should not be sold in campuses. Many organizations over
the last few years have been calling for a blanket ban for the sale of junk food across
schools and colleges.

SubQuestion No : 16
Q.16 Selectthe most appropriate synonym of the word APPRECIATE?
Ans X A.fragrance

< B. criticize
" C.admire
2 D. luxuriate

Question ID : 1841222969




Comprehension:
Read the following passage and answer the questions given below.

Foods that are high in salt, sugar, fat or calories and low in nutrient content are called Junk
foods. Children, especially adolescents influenced by advertisements consume foods which
are high in fat, sugar and salt. These foods are high in calories but not nutrient dense. Junk
foods give generally 'empty calories'.

One of the important reasons for the rise in obesity among children is consuming junk
food.

Salted snack foods like chips, candies, French fries and sweetened carbonated beverages
are considered as junk foods. Bakery products like cakes with icing and biscuits are mostly
made with Maida, saturated fat and sugar also come under the category of junk foods.
Puffs and karo biscuits, get the characteristic layers due to addition of trans and saturated
fat. Increase in serving size of foods like popcorn in theatres is not desirable.

Idli, vadas and dosa contribute protein and vitamin requirements in addition to calories.
These foods are not junk foods.

Junk food should be restricted in diets and occasionally consuming them may not harm
the body. Pizzas nowadays made with whole wheat flour. Addition of more vegetables make
it more nutritious. Cheese present in pizzas contribute to protein requirement.

Indian sweets like jalebi made with maida and sugar can also be considered as junk food.
All sweets should be consumed in limited quantities due to high content of sugar and trans
fats and occasional consumption may not imbalance nutrient intake.

Foods like vadas and bhajjis can be consumed occasionally though they are rich in protein
they are also rich in calories.

Milk based beverages like milk shakes and lassi either sweet or salt contain lot of sugar
and salt. One need to appreciate those foods with no or limited sugar and salt.

Most of the junk foods are processed. Limiting processed foods and outside foods, is
desirable. Appreciating natural foods like fruits and nuts as snacks would pave the way to
good health.

In 2016 the Central Board of Secondary Education had sent out a circular to its affiliated
schools stating that junk food should not be sold in campuses. Many organizations over
the last few years have been calling for a blanket ban for the sale of junk food across
schools and colleges.

SubQuestion No : 17

Q.17 What does Idli, vada and dosa contribute in addition to calories?

Ans

25 A.Sugar and salt intake
< B.Vitamins and fats
«# C. Protein and vitamin requirement

2% D. Maida and sugar

Question ID

: 1841222968




Comprehension:
Read the following passage and answer the questions given below.

Foods that are high in salt, sugar, fat or calories and low in nutrient content are called Junk
foods. Children, especially adolescents influenced by advertisements consume foods which
are high in fat, sugar and salt. These foods are high in calories but not nutrient dense. Junk
foods give generally 'empty calories'.

One of the important reasons for the rise in obesity among children is consuming junk
food.

Salted snack foods like chips, candies, French fries and sweetened carbonated beverages
are considered as junk foods. Bakery products like cakes with icing and biscuits are mostly
made with Maida, saturated fat and sugar also come under the category of junk foods.
Puffs and karo biscuits, get the characteristic layers due to addition of trans and saturated
fat. Increase in serving size of foods like popcorn in theatres is not desirable.

Idli, vadas and dosa contribute protein and vitamin requirements in addition to calories.
These foods are not junk foods.

Junk food should be restricted in diets and occasionally consuming them may not harm
the body. Pizzas nowadays made with whole wheat flour. Addition of more vegetables make
it more nutritious. Cheese present in pizzas contribute to protein requirement.

Indian sweets like jalebi made with maida and sugar can also be considered as junk food.
All sweets should be consumed in limited quantities due to high content of sugar and trans
fats and occasional consumption may not imbalance nutrient intake.

Foods like vadas and bhajjis can be consumed occasionally though they are rich in protein
they are also rich in calories.

Milk based beverages like milk shakes and lassi either sweet or salt contain lot of sugar
and salt. One need to appreciate those foods with no or limited sugar and salt.

Most of the junk foods are processed. Limiting processed foods and outside foods, is
desirable. Appreciating natural foods like fruits and nuts as snacks would pave the way to
good health.

In 2016 the Central Board of Secondary Education had sent out a circular to its affiliated
schools stating that junk food should not be sold in campuses. Many organizations over
the last few years have been calling for a blanket ban for the sale of junk food across
schools and colleges.

SubQuestion No : 18

Q.18 How are children and adolescents influenced towards junk food?

Ans

< A.Dueto their big serving sizes
< B. Love towards them
«# C. Advertisements

25 D. Rich in nutrients

Question ID

: 1841222966




Comprehension:
Read the following passage and answer the questions given below.

Foods that are high in salt, sugar, fat or calories and low in nutrient content are called Junk
foods. Children, especially adolescents influenced by advertisements consume foods which
are high in fat, sugar and salt. These foods are high in calories but not nutrient dense. Junk
foods give generally 'empty calories'.

One of the important reasons for the rise in obesity among children is consuming junk
food.

Salted snack foods like chips, candies, French fries and sweetened carbonated beverages
are considered as junk foods. Bakery products like cakes with icing and biscuits are mostly
made with Maida, saturated fat and sugar also come under the category of junk foods.
Puffs and karo biscuits, get the characteristic layers due to addition of trans and saturated
fat. Increase in serving size of foods like popcorn in theatres is not desirable.

Idli, vadas and dosa contribute protein and vitamin requirements in addition to calories.
These foods are not junk foods.

Junk food should be restricted in diets and occasionally consuming them may not harm
the body. Pizzas nowadays made with whole wheat flour. Addition of more vegetables make
it more nutritious. Cheese present in pizzas contribute to protein requirement.

Indian sweets like jalebi made with maida and sugar can also be considered as junk food.
All sweets should be consumed in limited quantities due to high content of sugar and trans
fats and occasional consumption may not imbalance nutrient intake.

Foods like vadas and bhajjis can be consumed occasionally though they are rich in protein
they are also rich in calories.

Milk based beverages like milk shakes and lassi either sweet or salt contain lot of sugar
and salt. One need to appreciate those foods with no or limited sugar and salt.

Most of the junk foods are processed. Limiting processed foods and outside foods, is
desirable. Appreciating natural foods like fruits and nuts as snacks would pave the way to
good health.

In 2016 the Central Board of Secondary Education had sent out a circular to its affiliated
schools stating that junk food should not be sold in campuses. Many organizations over
the last few years have been calling for a blanket ban for the sale of junk food across
schools and colleges.

SubQuestion No : 19

Q.19 What was the message sent across through the circular by the CBSE board?

Ans

25 A. Junk food to be restricted in diet
«" B. Blanket ban for sale of junk in campuses
< C. Advertisements to be banned

25 D. Bakery items to be not sold

Question ID

: 1841222967




Comprehension:
Read the following passage and answer the questions given below.

Foods that are high in salt, sugar, fat or calories and low in nutrient content are called Junk
foods. Children, especially adolescents influenced by advertisements consume foods which
are high in fat, sugar and salt. These foods are high in calories but not nutrient dense. Junk
foods give generally 'empty calories'.

One of the important reasons for the rise in obesity among children is consuming junk
food.

Salted snack foods like chips, candies, French fries and sweetened carbonated beverages
are considered as junk foods. Bakery products like cakes with icing and biscuits are mostly
made with Maida, saturated fat and sugar also come under the category of junk foods.
Puffs and karo biscuits, get the characteristic layers due to addition of trans and saturated
fat. Increase in serving size of foods like popcorn in theatres is not desirable.

Idli, vadas and dosa contribute protein and vitamin requirements in addition to calories.
These foods are not junk foods.

Junk food should be restricted in diets and occasionally consuming them may not harm
the body. Pizzas nowadays made with whole wheat flour. Addition of more vegetables make
it more nutritious. Cheese present in pizzas contribute to protein requirement.

Indian sweets like jalebi made with maida and sugar can also be considered as junk food.
All sweets should be consumed in limited quantities due to high content of sugar and trans
fats and occasional consumption may not imbalance nutrient intake.

Foods like vadas and bhajjis can be consumed occasionally though they are rich in protein
they are also rich in calories.

Milk based beverages like milk shakes and lassi either sweet or salt contain lot of sugar
and salt. One need to appreciate those foods with no or limited sugar and salt.

Most of the junk foods are processed. Limiting processed foods and outside foods, is
desirable. Appreciating natural foods like fruits and nuts as snacks would pave the way to
good health.

In 2016 the Central Board of Secondary Education had sent out a circular to its affiliated
schools stating that junk food should not be sold in campuses. Many organizations over
the last few years have been calling for a blanket ban for the sale of junk food across
schools and colleges.

SubQuestion No : 20
Q.20 Which of the following factors are notincluded under the category of junk food?
Ans X A Highin salt and sugar

< B. High in fats
< C.High in trans and saturated fats

+” D. High nutrient content foods

Question ID : 1841222965

Q.1 ‘urorf &Y Frsft e &R’ & 1 A e HqgTaR o1 vk glar 82
Ans X A. STH & ol g

< B. ST ST 1T
o C. STH IR @er
< D. T 9 918 g

Question ID : 1841222977




Q.2 ‘sru=ft urea 3 A A &fda @ fed 1’ arer & Y@ifera sisr o fore 2reg & ufawnfua foran

Ans

ST TehdT 87
25 A ST
& B.3
X c.®is
25 D9

Question ID : 1841222984

Q.3
Ans

‘IURR o1 faeita aam gim?
&5 A SRR

X B. fRR
< C. 9

& D. JUHR

Question ID : 1841222976

Q.4 ‘34U FHH T el WITHET & AT 81’ 31 Rl AT e arelt Iugh wreniih H @ @7
Ans X A 3ma e i fag
25 B. gt Hiig T, g+t g ST
o C. 30 SR8 &1 T 3T
< D. 31O TS 37U gTY
Question ID : 1841222979
Q.5 ghufafeqamam _______ MAQI arerr & Rk w1 & forg Iugh 2ree gim-
Ans o A AT
X B.g
X coam
< D. @
Question ID : 1841222983
Q.6 ‘TR 1 Gl i forede vt @t 22
Ans X A TR+ 3R

5 BT + 3R
W CW+ R
K DI+ TR

Question ID : 1841222973




Q.7 ‘f21T Heara Dadt 81’ arer o1 hIe 8-
Ans X A T gda

< B.gui ad"H

X C. Tty gedmm

o D. 9= ada

Question ID : 1841222980

Q.8 ‘srieR’ 1 Tt GfY foreds -
Ans X A 21+ 2l

X B.fA+ 3ick

o C. AU+ 3fh

25 D. A + 3k

Question ID : 1841222974

Q.9 ‘Hg & @rAT JeTaR T Ul A -
Ans X A EiE UHRT ST

X B.ICEEM

o« C. P RE g

X D. fayrrama w3r

Question ID : 1841222978

Q.10 ‘3iteht 7 et @t wae A€ 7 g1’ ug fora UehR &1 are’a &7
Ans o A Tdhaaras

/< B.Tigara®
X C.3®[amash
X D. rergaras

Question ID : 1841222982

Q.11 ‘g# 3rut Ash K f&Far w1’ a1 & Y@ifera ug 7 R w1ven &1 uerg 82
Ans o A TIYRRE

75 B. hRURRRH
< C. FafepRe
5 D. SR RS

Question ID : 1841222970

Q.12 fam=fafaa & @ i ar faereu ‘gt frarfastivor @2
Ans X A iR

" B.and
Xcw
< D. 8%

Question ID : 1841222971




Q.13

Ans

‘"ferar’ o1 gafgart 8-
XA TER
" B.3T&
X c.af=
#5 D. &R

Question ID : 1841222975

Q.14

Ans

‘e fora uenR o1 faiwor g2
X A A
X B. uRmmomEiteres
«” C. UErH
< D. GEErEas

Question ID : 1841222972

Q.15

Ans

‘g=d farenerg ma git’ arey &1 I @-
KA. mEEg dfesy

X B. A

o C.gfidmw g

X D. oo

Question ID : 1841222981

Q.16

Ans

Comprehension:

T g merieT Y emTURes Ud SR Ry g msi o SR T
of ofR g A Sfta1 & <1 uer € o8 O uge o1 Ag<d 39 T Y T8 51a ¥ gH 77 &

Afe sfaer™ & Rwg # 5o off S 8, STafch gur = s ofR oral & o9 sifafa wu ¢ feafeard
I & aTe Tiergdl AdTse) § SrTeh Ag<d UTd fohar 8fR ded gaR fauRY ik d=reh, fSmdh i
FAEA 8, G i, FRAR IhY UTHd & §Y fa uRafdd shar 381 81 o ok fasm & o= gan e

2g Ia1 @1 ¢ foad fasm Ruare &0 & FRar st anfad gam

SubQuestion No : 16
e 347 fasTTT h1 Sy &aT @1 87

2 A, g@mefyu
X B. FggiTyef
X C. TR I
 D. Tl

Question ID : 1841222990




Comprehension:
T g Terier Y YR Ud ofk AT g usi & Iw |

o SR faT armTfoie Sfiaah 31 uet 8 i 9 Ugdl &1 78 SU T U @18 Sa G gH A &
AR 3fiem & Rvg & g off s €, Safh R 7 1fies ofk oral & g siftafda wu @ feafear
3 & 91E Gietgdl raTsdt & sraTeh Ag<d UT fohar ok aed gaR fAaR ofik gwrseh, S
BHEA &, I &, AR Iean™ T & gg fas uRafda srzar @181 o ofk s & offa ges e
& 91 381 8 fSred farsm FiRuare w0 @ R st @nfaa gam

SubQuestion No : 17
Q.17 'Skt oAt 37 ghat 8-
Ans o A TG

X B.g™
25 C.uad
25 D. fammer

Question ID : 1841222989

Comprehension:

3T 7 TerieT Y YR Ue iRk Ay g wai & 3w e

o} 3R fag aroies Sfta & &t uet € S & g o1 Ag<a 39 T 4 @18 o9 9 gH AgST &
AR 3fae™ & Avg & g off s €, STafh g@R 7 1fies ofk oral & g siftafa T @ feafear
NI & d1E Gietgd] AdTee § 3/Teh Hg<d UT fohaT 3R 999 gAR fAuR) ok s, fSHd =
TG &, I o, FRaR S UM & g¢ fas uRafda sxar @181 ot ofk fasm & off9 ges enar
2& I 5T § foraw faee fRuare w0 & fRar Rt anfaa gam

SubQuestion No : 18
Q.18 Tieigdl rdaret # fordehl aaras Age fAr?

Ans X A @@
" B.fagm
X C.ouH
< D.3fagm

Question ID : 1841222987

Comprehension:

T g merier Y eATURes U@ SR Ry g msi b SR T

of ofR g A Sfta1 & <1 uer € o8 O ugel &1 Ag<d 39 T Y T8 51 ¥ gH 7 &
AHRes 3fe™ & Avg & 3o off S &, STafh gER 7 1fies ofk oral & 9 sifafa wu @ feafear
3 & a1e Tiergdl T} § SmTeh Ag<d UTd fohar 8fR ded gaR fAaRY ik dwren, fSmdh i
TAEA 8, G i, FRAR Ieh™ UM & §Y fae uRkafda sar we1 81 o ok A & ot g e
2& I @1 ¢ foad fasm Ruare &g @ FRar st anfaa gam

SubQuestion No : 19
Q.19 arHIfSe Sfia= & &t ugeg & |/ &7
Ans o A ud SR i
2< B. {09 ik Twid
X C.aFm iR fagm
X D. o siR g

Question ID : 1841222986




Comprehension:
4T 7Tq TeriRr Y AU ué ofR Gy g we & IR &

o SR faT armifoie Sfiah 31 uet 8 i O Ugdl 1 7 S TF U 3gT 8 Sa Y gH A &
ARe sfae™ & Rvg # go off S 8, STafh gur 7 s ofk ol & 9 sifafia wu @ feafeard
Ifera & aTe Aieigdl U] § STeh A UTd fohar iR derd gaR faaRY ik dwren, fSah o=
BHEA &, i &, FRaR Sean ™ T & g¢ fas uRafda srxar @181 o ofk fasm & offa ges e
2g I @1 ¢ foad fasm fRuare wu & FRaR st anfara gam

SubQuestion No : 20
Q.20 famma for@ ufkafda w=ar w182
Ans X A &ad foari et

o B. [0aRY ik St g1t
< C. g g oY
X D. &Y

Question ID : 1841222988

Section : Discipline 1

Q.1 For Typical domestic earth wires smallerthan ________ must not be used (where SWG
= Standard wire gauge).

Ans X A 3SWG
X B.2SWG
& C.14SWG
2< D.15SWG

Question ID : 1841223002

Q.2 Choose the correct statement about Chain drive.

A. Chain drive require moderate space and belt drive required larger space.
B. In chain drive slip may occur.

Ans X A.Both A and B are correct
" B.Only A is correct
#5< C.Both A and B are incorrect
#< D.Only B is correct

Question ID : 1841223003

Q.3 In the Coulomb’s law equation constant ‘k’ depends upon which of the following?
Ans  # A.Medium that the Charged objects are immersed in

< B. Material of that the Charged objects
< C. Magnetic field of objects
#< D. Weight of the objects

Question ID : 1841222991




Q4 Imaginary lines represent by ‘A’ are known as:

||-|Jn

e soas -E}E‘E

A R COLARE -.. { & !

e 4_1F“"IF'—"'IF'“"‘1 §
-
13

-
ey

-
=

Ans X A.Cornice
#< B. String
#5< C. Spalls
«# D. Prepends

Question ID : 1841223008

Q.5 Anl.C engine works with acompression ratio of 20. If cut-off happens at 10% of the

stroke, then the cut-off ratio of this engine is:
Ans # A29

X B.22
X.c.27
X D.25

Question ID : 1841223005

Q.6 The thirdterm of aG.P. is 16. The product of its first five terms is:

Ans A 425
X B.210
X c.8l®
o D.2%0

Question ID : 1841222995

Q.7 Choose the correct statement about Norton’s Theorem.

A. Norton's Theorem is away to reduce anetwork to an equivalent circuit composed

of asingle current source, parallel resistance, and parallel load.
B. Thevenin’s Theorem and Norton's Theorem are same.

Ans X A.Both A and B are correct
«# B.Only Ais correct
< C.Both A and B are incorrect

#< D.Only B is correct

Question ID : 1841223001




Q.8 Choose the correct statement about strip footing.
Ans X A. Strip foundations are designed for structures where the load is relatively low.

#< B.ltis unevenly transfer structure’s loading at foundation level.
«" C. They are generally used for ground where the subsoil is of a good bearing capacity.

25 D. They are generally used for ground where the subsoil is of a low bearing capacity.

Question ID : 1841223007

Q.9 Whatis the purpose of adding ammonia buffer in sample solution?
Ans & A adjustment of pH in sodium analyser

< B. adjustment of concentration in sodium analyser
< C. to prevent form catalyst reaction

#< D. adjustment of volume of sodium analyser

Question ID : 1841222993

Q.10 Three resistance 10 Q,15 Q and 25 Q are connected in series across 100 V. What will
be the voltage drop across 10 Q?

Ans X A.29V
X B.14V
& C.20V
X D.135V

Question ID : 1841223000

Q.11 In Which Group B building are classified as per National Building Code part 4?
Ans X A. Storage Building

#< B.Business Building
25 C. Assembly Building
4" D. Educational Building

Question ID : 1841223006

Q.12 Which of the following is not a participating compound for conducting Winkler test?
Ans X A. Starch solution

#< B. Sodium thiosulphate
" C.Silver azide
5 D. Azide lodide

Question ID : 1841222994




Q.13 What will be the suitable type of shoring which is having a maximum distance of about 9
m between the end-to-end parallel walls?

Ans  # A Flying shore
< B. Vertical shore
#< C. Dead shore
#< D. Raking shore

Question ID : 1841223009

Q.14 An objectis having skidding stop in 8 m. During skidding process, the on the object
directly opposed force of 50 N to the motion is applied by surface. Calculate the
amount of work done by surface.

Ans o A Zero
#< B.2000J

Xci1J
2< D.-2000 J

Question ID : 1841222998

Q.15 Find the value of (1-i/1+i), where 'i' is an imaginary number:
Ans X A1

X B.i
& C.-1
2 D.1/i

Question ID : 1841222996

Q.16 Two like parallel forces are acting at a distance of 30 mm apart and their resultant is 90
N, if the line of action of the resultant is 20 mm from one of the forces, the two forces

are:
Ans X A.120N,-30N
& B.45N,45N

& C.30N, 60N
2<D.20N,70N

Question ID : 1841222997

Q.17 Choose the correct statement.
Ans X A.Prandtl number is the ratio of momentum diffusivity by thermal conductivity

#5< B. Prandtl number is the ratio of thermal diffusivity by momentum diffusivity
< C. Prandtl number is the ratio of thermal conductivity by momentum diffusivity

4" D. Prandtl number is the ratio of momentum diffusivity by thermal diffusivity

Question ID : 1841222992




Q.18 Relieving Arch required alintel made of which materiel?
Ans X A. Steel

#5 B. Stone
#5< C. Concrete
«" D. Wood

Question ID : 1841223010

Q.19 Choose the correct statement about Locomotive boiler.

A. This boiler is capable of meeting sudden and fluctuating demands of steam.
B. Low steam generation rate

Ans X A.Both A and B are incorrect
" B.Only Ais correct
< C.Only B is correct
#< D. Both A and B are correct

Question ID : 1841223004

Q.20 When motion is just commencing, maximum friction is encountered. The friction
acting at this stage is termed as:

Ans X A.Viscous Friction
«" B. Limiting Friction
25 C.Rolling Friction
25 D. Sliding Friction

Question ID : 1841222999

Section : Discipline2

Q.1 Unitspeed (N,) of the turbine runner is obtained by the following.
Ans X A vN/H

< B.N2/3/H
< C.N/H,
& D.N/VH

Question ID : 1841223025

Q.2 Which of the following apparatus is used to test Soundness of cement?
Ans X A.lmpact Test apparatus

< B. Los Angeles apparatus
4" C. Le Chatelier apparatus

5 D. Permeabilty apparatus

Question ID : 1841223029




Q.3 Flow of water in open channel is supposed to be laminar flow if Reynold number is
equal to:

Ans X A. Greater than 2000
" B. Less than 500
25 C.500 to 2000
2% D. Doesn't depend on Reynold number

Question ID : 1841223023

Q.4 Specific yield value for well irrigation is always porosity.

Ans o A Less than

2 B.Inverse of
< C. Greater than
#< D.Equal to

Question ID : 1841223015

Q.5 Which of the following is related to hydrostatic pressure on dam?
Ans X A.Material of dam

#5< B. Length of water in dam
«# C. Shape of dam
< D. Type of foundation of dam

Question ID : 1841223022

Q.6 Which of following is not a computer operating system?
Ans X A. Red Hat

< B. Windows 7
* C. MatLab
< D. Vista

Question ID : 1841223026

Q.7 When abody is totally or partially submerged immersed in the fluid, itis _______ up.
Ans X A.Pushed

#< B. Displaced
#5< C. Clamped
«" D. Buoyed

Question ID : 1841223021

Q.8 The kinematic viscosity is defined as:
Ans o A Absolute viscosity of a liquid divided by its density at the same temperature.

< B. Absolute viscosity of a liquid divided by its density at the variable temperature.
#< C. Density divided by absolute viscosity of a liquid at the same temperature.

< D. Density divided by absolute viscosity of a liquid at the variable temperature.

Question ID : 1841223020




Q.9 Aggregate which are passing through _______ mm IS sieve is termed as fine
aggregate.

Ans X A.10 mm
25 B.4.00 mm
25 C.6.75mm
«# D.475mm

Question ID : 1841223030

Q.10 When water table is near to ground level or at ground level, the areais known as:
Ans & A Water Logged

5 B. Hels water
< C.Water Tabled
75 D. Saturated

Question ID : 1841223019

Q.11 Inrectangular channel of 4 m wide and 2 m deep, water is running full and Bed slope 1
in 3600. Find the velocity of flow of water, if Chezy’s constant C = 60.

Ans X A.2m/sec
< B.3m/sec
" C.1m/sec
& D.4m/sec

Question ID : 1841223024

Q.12 Which of the following not correct according to input to output, the compiler phase that is processes by it?

Phases of Compiler Input Output
A Lexical Analyzer Character stream Token stream
B Syntax Analyzer Token stream Syntax tree
C Semantic Analyzer Syntax tree Syntax tree
D Intermediate Code Syntax tree Target-machine code
Generator
Ans X A.B
X B.A
X c.cC
« D.D

Question ID : 1841223027

Q.13 Under which of the following type of irrigation, Irrigation water carried to the land by
medium of gravity flow indicates?

Ans ¢ A Flow irrigation
25 B. Lift irrigation
2< C. Dripirrigation
< D. Sprinkler irrigation

Question ID : 1841223016




Q.14 Which of the following statement is correct for Hydrograph?

A) Itis the graphical representation of measured discharge of stream.
B) Discharge is plotted in abscissa.

Ans  # A.Only Ais correct
#< B.Both A and B are correct
#5< C.Both A and B are incorrect

25 D.Only B is correct

Question ID : 1841223014

Q.15 Which of the following is a data storage device for future use?
Ans X A.RAM
X B.CPU
& C.SSD
< D.GPU

Question ID : 1841223028

Q.16 Which of the following is the composition of Terrazo flooring?
Ans & A. Chips, cement

< B. Chips, powder, cement

< C. Chips, powder, concrete

#5 D. Chips, concrete

Question ID : 1841223012

Q.17 In case of diversion headwork, at trough stage the bed slope and velocityare _______.
Ans X A large

25 B. Medium

25 C.Zero

«* D.Small

Question ID : 1841223017

Q.18 A vertical member of the frame, which is provided to sub-divide adoor vertically is
knownas _________.

Ans  # A Mullion
#< B. Verticals
75 C.Reveals
#< D. Rebate

Question ID : 1841223011




Q.19 National Building Code of India, Part 5 is about:
Ans X A.Landscaping

#5 B. Fire and Life Safety
«" C. Building Materials
25 D. Administration

Question ID : 1841223013

Q.20 Which of the following comment is correct for Canal Outlets?

A) Canal outlet is small structure built at the head of water course.
B) Canal outlet are used to connect with minor or adistributary channel.

Ans X A.Only Ais correct
" B.Both A and B are correct
#< C.Both A and B are incorrect
< D.Only B is correct

Question ID : 1841223018

Section : Discipline3

Q.1 What is maximum permissible limit of organic matter in construction water as per IS
456:20007?

Ans X A.2000 mg/I
25 B.20 mg/I
< C. 1000 mg/I
& D. 200 mg/I

Question ID : 1841223033

Q.2 Which of the following is not secondary air pollutants?
Ans X A. Sulphuric acid

< B.Ozone
25 C.Formaldehyde
«# D. Nitrogen oxides

Question ID : 1841223050

Q.3 Aerated concrete is produced by the adding the following in the concrete.
Ans X A. Magnesium sulphate

< B. Sodium nitrate
4 C. Powdered Aluminum
#< D. Zinc sulphate

Question ID : 1841223032




Q.4 Which of the following is Accelerating Admixtures?
Ans X A. Teepol

#< B.vinsol resin
« C.triethanolamine

< D. darex

Question ID : 1841223035

Q.5 To avoid segregation the concrete had better not be thrown from height more than:
Ans X A.2m

& B.15m

X C1m
X D.05m

Question ID : 1841223036

Q.6 Which of the following is reason for temporary hardness in water?
Ans X A. Nitrates of Ca++ and Mg++

< B.Sulphate of Ca++ and Mg ++
«” C. Carbonates of Ca++ and Mg++

#5 D. Bi nitrates of Ca ++ and Mg ++

Question ID : 1841223048

Q.7 The unit failure stress is takenas _______ stress.
Ans X A.Ultimate

#< B. Failure
«" C. Rapture
< D. Fracture

Question ID : 1841223039

Q.8 A concrete atagiven age and under normal temperature its compressive strength
primarily depends on:

Ans X A. curing period
" B. water cement ratio
#5 C.temperature at the time of mixing

25 D. type of vibrator

Question ID : 1841223037




Q.9 The percentage of the aggregate of F.M. Z to be combined with coarse aggregate of
F.M. X for obtaining the aggregates of F.M. Y, will be obtained by:

Ans X A.P=(X+Y/(Y+2Z)*100
X B.P=(X+Y)/(Y-Z)*100
X C.P=(X-Y)/(Y+2Z)*100
& D.P=(X-Y)/(Y-2)*100

Question ID : 1841223034

Q.10 Which of the following method is suitable for an average size town under the normal
condition where the growth rate is found to be in increasing order?

Ans X A.Geometric progression method
#5 B. Logistic curve method
25 C. Arithmetical increase method

#" D. Incremental increase method

Question ID : 1841223045

Q.11 Effective span is normally taken as distance between center of
Ans X A End plates

< B.Bed Plate
25 C.Bearing

«" D. Supports

Question ID : 1841223040

Q.12 Average Daily Per Capita Demand is calculated by the following formula.
Ans X A. (365 x Population) / Quantity Required in 12 Months

" B. Quantity Required in 12 Months / (365 x Population)
#< C. (30 x Population) / Quantity Required in 12 Months
Z< D. Quantity Required in 12 Months / (30 x Population)

Question ID : 1841223046

Q.13 Find the deflection at free end.

’,.-‘ w
i

P§ Q
‘,.-'= L *

Ams XA aWL3/6EI

¥ B WL3/3EI

X ¢ WL3/2E1

X 0. WL3/4EI

Question ID : 1841223038




Q.14 Find the value of strain energy of metallic bar with cross sectional area of 2 cm? and
gauge length of 10 cm if it stretches 0.002 cm under the load of 10 kN?

Ans X A.14N-cm
#< B.12 N-cm
#< C.16 N-cm
« D.10 N-cm

Question ID : 1841223043

Q.15 Which of the following e quation matched with following condition of truss?

‘Internally stable and statically determinate space truss’
Ans X Aj<2m -3

KX Bm=2j-1
' Cm>2j-3
KX D.m=3j-6

Question ID : 1841223044

Q.16 ‘When the pump is operated, the valve is opened, but when the pump is suddenly
stopped the valve is automatically closed.' These are the properties of the following
type of valve.

Ans X A.Scourvalve
#< B. Butterfly valve
4" C. Check valve
25 D. Sluice valve

Question ID : 1841223047

Q.17 Which of the following is not a type of water Distribution Network?
Ans o A.Free End System

< B. Radial System
#< C. Grid Iron System
2<% D.Dead End System

Question ID : 1841223049

Q.18 Fill the right combination for the given statement ‘Mass moment of inertiaofa body
about an axis is the sum total of product ofits _______ and square of __________.

Ans X A.distance from the axis; elemental masses
" B. elemental masses; distance from the axis
25 C.Volume; distance from the axis

< D. Distance from the axis; volume

Question ID : 1841223042




Q.19 Which of the following test is performed to find the workability of concrete?
Ans X A.Consistency test

#< B. Water absorption test
25 C.compression test

" D. Slump test

Question ID : 1841223031

Q.20 A graph showing the variation of the longitudinal stress, shear, bending moment, or
other effect upon a structural member due to amoving load is known as

Ans X A.Shear force diagram
#< B.Bending moment diagram
#< C. Force diagram

" D. Influence line diagram

Question ID : 1841223041

Section : Discipline4

Q.1 Which of the following statement is correct for 3 hinged arches?

A. Horizontal thrust may be found by the first theorem of Castigliano.
B. It may have circular or parabolic shape.

Ans X A.Both A and B are incorrect
#< B.Both A and B are correct
" C.Only B is correct
#5 D.Only A is correct

Question ID : 1841223068

Q.2 The base of all paint used in building work ________.
Ans X A.Zinc oxide

«" B. White lead
25 C. Lead oxide
< D. Iron oxide

Question ID : 1841223058

Q.3 Insoil sample if void ratio is ‘e’ and specific gravity ‘g’ then which of the following is
correct for hydraulic gradient (i)?

Ans X A (i+e)=g-1
W B (g-1)/(+e=i
K C(i+te)=g+1
XD (1+e=g-1

Question ID : 1841223064




Q.4 Which of the following assumption is correct for general flow equation for soil?

A. Flow is laminar and follows Darcy’s law.
B. Soil medium is unsaturated, compressible and homogeneous.

Ans X A.Only B is correct
#5< B.Both A and B are correct
#5< C.Both A and B are incorrect

" D.Only Ais correct

Question ID : 1841223063

Q.5 Shale is compressedand _________ Clay.
Ans 4 A Laminated

< B. Coarse grained
#< C. Stratified
< D. Metaporphic

Question ID : 1841223055

Q.6 ‘Talus'is atype of the transported by the following way?
Ans X A.ByWind

#< B. By Glacier

¥ C. By Gravitational force

75 D. By Water

Question ID : 1841223060

Q.7 Which of the statement is correct about influence line diagram?

A. An influence line a graph that shows the variation any given point on a structure due

to the application of a unit load at any point on the structure.

B. An influence line shows the deformation at any given point on a structure

Ans X A.Only B is correct
#< B.Both A and B are incorrect
" C.Only A'is correct
#< D. Both A and B are correct

Question ID : 1841223070

Q.8 A water treatment plant of capacity, 100000 m3/day has filter boxes of dimensions 10
m x 10 m. The loading rate to the filters is 100 m3/day/m2. When five of the filters are

out of service for back washing, the loading rate (in m3/day/m2) is:

Ans  # A 200
2 B.150
#< C.300
#< D.100

Question ID : 1841223053




Q.9 For the variation in rate of sewage, Babbit’s formula for maximum (Qpax) and average rate (Qgv) of flow is given by

the following expression.

@ A Q= 5Q,/PP2
X B. Quuax=[2 + 12/(6 + PY9)]Q,,
X C Q= 6Q,/P*3
X0 Q= [l + 14/(4+P"H]Q,.

Ans

Question ID : 1841223054

Q.10 White lime is also knownas _________ .
Ans o A Fatlime

< B. Kankar lime
25 C. Hydraulic lime
#< D. Slaked lime

Question ID : 1841223057

Q.11 Find the wrong statement about Conjugate beam theorem.
Ans X A.ltis useful in finding the deflection.

" B.ltis derived from unit load method.
#5< C.ltis derived from moment area theorem.

#5 D. Itis applicable even if beam is not having point of zero slope.

Question ID : 1841223066

Q.12 The bricks up to class 12.5, when water absorption tested for 24 hours, shall not be
more than Percent.

Ans X A.25
X B.15
X C.30
& D.20

Question ID : 1841223059

Q.13 To find the final setting time of cement, needle does not pierce through the paste
more than

%" B.0.5mm
25 C.0.25mm
25 D.1.5mm

Question ID : 1841223056




Q.14 The numerical difference between liquid and plastic limit of asoil indicates _________
index.

Ans o A Plasticity
X B.LL
< C.Elastic
25 D. Plastic

Question ID : 1841223062

Q.15 Dosage of coagulants do not depend on the which of the following factor?
Ans X A. Turbidity of water

< B. Temperature of water
< C.Time of settlement

" D. Viscosity of water

Question ID : 1841223051

Q.16 Which of the following is true for the three hinged arch?
Ans X A.Determinate if the springs are at the same level

«# B. Statically determinate
< C.indeterminate depending upon loading

< D. Statically indeterminate because of central hinge

Question ID : 1841223067

Q.17 Which of the following is not a method of estimation of bearing capacity from field
test?

Ans o A Terzaghi's load test
#< B. Plate load test
#5 C. Cone penetration test

Z5 D. Standard penetration test

Question ID : 1841223065

Q.18 Maximum water content below which there is no volume change is also the

Ans X A. Plastic limit (PL)
2 B. Liquid limit (LL)
4 C. Shrinkage limit (SL)
< D. Plasticity Index (Pl)

Question ID : 1841223061




Q.19 Grit chamber is having which of the following primary function during Dome sstic
Wastewater Treatment?

Ans X A.Conversion of organic matter into relatively stable organic residue
25 B. Removal of organic/inorganic settleable solids
< C.Removal of large floating, suspended and settleable solids

# D.Removal of inorganic suspended solids

Question ID : 1841223052

Q.20 Which of the following statement is not true about moment distribution method?

Ans X A.Thedegree of accuracy of the results depends on the number of successive
approximations.

< B.ltis an approximate method.
25 C.Moment distribution method of analysis is applicable on beams and frames.

¥ D. The moment at the end of a member is considered Negative if it tends to turn the
end of the member clockwise and positive if it tends to turn it counterclockwise..

Question ID : 1841223069

Section : Discipline5

Q.1 In Group Index system which of the following is not a soil characteristic group?
Ans & A GroupA-1-c

< B. Group A2
< C.GroupA-1-a
< D. Group A-1-b

Question ID : 1841223081

Q.2 Which of the following command can be used to make the selection from your
drawing with filters?

Ans X A MSELECT
7< B. DSELECT
7< C.FSELECT
o D. QSELECT

Question ID : 1841223079

Q.3 Propped cantilever beam is:
Ans X A.Over-hanged beam

< B. Statistically determinate beam
«” C. Externally Indeterminate Structures

#< D. Internally Indeterminate Structures

Question ID : 1841223071




Q.4 The expression for design strength of members under axial tension, Tdg is given by yielding of gross section (Ag) yield
stress of the material(fy) and partial safety factor (Vyo) for failure in tension by yielding, will be:

g Tag= A
X5 Tag = Agfylme
X ¢ Tyg=Ymo [Agly
X 0. Tgg = fy/YmoAAg

Question ID : 1841223086

Q.5 InIndian Railways platform surface aslope of 1in ________ has been prescribed.
Ans X A.40

X B.15

X C.25

& D.60

Question ID : 1841223084

Q.6 Which of the following is not consider during the rate analysis?
Ans o A Establishment charge

#5 B. Material cost
#5< C. Labor cost
< D. Water charges

Question ID : 1841223088

Q.7 Iltconsists of course aggregate of 12.5 mm and 10 mm size with ready-mix bitumen
compacted to athickness of 20 mm to serve as asurface coat of the pavement. It is

known as:
Ans X A.Renewal Coat

25 B. Wearing coat
25 C. Sheet asphalt

«" D. Bituminous premix Carpet

Question ID : 1841223082

Q.8 Which of the following command, you can change the base point of a drawing without
changing its origin?
Ans X A.CBSE
«" B.BASE
5 C.BSEC

7< D.BSAE

Question ID : 1841223078




Q.9 A room with dimension of 4.8 m x 4.8 m with 20 cm walls all around. Its central line
length will be:

Ans X A.12.64m
< B.14m
« C.20m
X D.15.6m

Question ID : 1841223087

Q.10 In first five-year plan (1951-56) main attention is given for development of
Ans X A. Airport terminal

#< B. Railway network
4" C. Road and road transport
#5< D. Dock and harbor

Question ID : 1841223080

Q.11 In anetwork Critical activity having the
Ans X A.Actual

«" B.Zero
25 C.True
< D. Standard

Question ID : 1841223072

Q.12 Critical path method is based on the which of the following orientation?
Ans X A. Resource Oriented

< B. Time Oriented
< C.Event Oriented
«” D. Activity oriented

Question ID : 1841223073

Q.13 Which of the following statement is correct about the financial manage ment?

A. Objective of the financial management is to profit maximization.
B. Objective of the financial management is to wealth maximization.

Ans X A.Only Ais correct
#< B.Only B is correct
#5< C.Both A and B are incorrect
«" D.Both A and B are correct

Question ID : 1841223074




Q.14 An assetdraws Rs. 10000/- after all deduction. What will be its capitalized value with
10% per annum of rate of interest?

Ans X A.Rs.1,00,500
#< B.Rs.1,10,000
& C.Rs.1,00,000
25 D.Rs.1,00,100

Question ID : 1841223090

Q.15 Find the dry volume of the concrete required for 100 m? of 10 cm thick concrete
work with proportionof1:2:4.

Ans p A 154m°
X B.10m?
7< C.30.5m3
X D.254m?3

Question ID : 1841223089

Q.16 siteifies faame sifdfaram, 11947 & sigaRr, gog sifdemifval & seu 9 fa=faf@a s @ &
1 FYF &l 8?7

A. Ue fafaifEe & & forg ues gorg ifant® fargss fopar &1 9ehdr g1
B. geig 1Tl gk wReprt st g4 anfggl

Ans X A ASRBZHI T g
" B.FIAATE B
X C.haaBaglg
< D.ASRBIMIHEl g

Question ID : 1841223076

Q.17 Which of the following command, you can make a multiline geometry which contains
multiple parallel lines?

Ans X A. MINSERT
< B.MLG
o C.ML
2 D.MIL

Question ID : 1841223077

Q.18 The sleeper density of aBG track is (n + 6) in metric units. The number of sleepers
per 1.280 km of track is:

Ans X A.1800
% B.1720
X C.1504
« D.1870

Question ID : 1841223085




Q.19 fa=fafia 7 @ wi= ufats=r qoresT suyTasT wige o1 W A8 8?
Ans X A. & dfiameat

7< B. 3MUTaeh e Ufeharait &1 faazor
< C.&hu W gd gRefm(HRS)HifT
o D. gt faazor

Question ID : 1841223075

Q.20 Which of the following test is performed on Bitumen for detecting overheating or
cracked bitumen?

Ans X A. Float test
#5 B. Softening point test
#5 C.Flash and fire test
" D. Spot test

Question ID : 1841223083




